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B : BB :
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5� 5� 5 : 5 5 4 5 : 5 5 4 �555
M
5M
555
M
5M
555
M
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!� BBBB 4 �� 555

���� B : BB : ��5� 5� BBBBBB 4 ��
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55555
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�BBB :::BB :: �55555

��
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G��� !!� 5555 4 4 �555 !!� 5555 4 555!�
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M
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M
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M
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BBB�� ::: �!555

M
5M
555
M
5M
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M
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!BB
�::B%:

a tempo

p
555 5 555 5 5 5! 555 5

���� 4 !!
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��
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M BB!!
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G���
cresc.55� 5555 5! 5 5E 55 5! 5 5! 5 5E 55 5! 5 5E

p

55 5! 5� 5! 5 : 55 4 5! $5 : 55 4 ritardando5

���� 55 4 4 0 G BBB 4 �
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M
55M
555
M
55M
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M
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�!!
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Example 15.12
Beethoven, Piano Sonata in E-flat, Op. 31, No. 3
first movement, 218–53

1

Analyzing Classical Form
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M� 55M 55M 55! 4
p

a tempo55E 55M 4
p

55E
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55 5 5� 55 5! 5! 5 5� 5E 55 5! 5! 55 5�
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5E 55 5! 55
4 4

G��� 55M! 55M 55M 5 4 55! 5 4 55! 5 4 4 555� 4 � 555� 555555555M 5M
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cresc.
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p

5 5 5 5� 5 = 5M 5M 5M 5M 5M 5M
5M 5M

5M

���� 5M 5M 5M 5M 5M 5M
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555555555555 5M 5M 5M 5M 5M 5M 5M 5M 5M 5M 5M
5M 5M 5M 5M

5M 5M 5M
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5
M
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M
5
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5
M
5
M
5
M

����
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M
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Example 15.12, Beethoven, Piano Sonata in E-flat, Op. 31, No. 3, first movement, 218–53 (continued)
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Allegro

G��� 5K�
f

55555 555555 5 4 555 555�
5 5 5 5 5 B5 5 5 5 5 B !55 55 �55 55 555555555555 555555 !55 �B

�
B 4

���� 5� = 4 4
f

55 55
L!! 55
L�� 55L 5555 55 4 4 G

p

= 555 55 55 5555 555555 555 5� 5 5� B
� �=5�5�
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G��� = 55555 = 55555 =
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5 5

f

5! 5!
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55
55 44=5� B 55 5� 5555555555

���� B 55 B 55 B� 5 5 =
5�5
�
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= 5� =5� 5� =5� 5�5
� = 0 �5� =

p

555
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f

55
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p
55
�= 55

�=
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�
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5 5! 5 5� 5 5 4 4 =

5 5� 5! 5� 5! 5 4 4 = 55555 = 55555 =
f p
555 5

5 5�=5�
5�=5�
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Example 15.13
Haydn, Piano Sonata in E-flat, H. 49
first movement, 188–218

1

Analyzing Classical Form
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BBB 55 55 =
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55
� = 55

� =
55
� = 55555 = 5

5� 5! 5� 5! 5
� 5�55555 5�
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5555 5 5 5555555
5555 5L 45555

���� =
f
5 5 5 5

5 5� =5�
5� =5�

5� = 55� 5 4 4
BBBB :::: 555 4 4 BBBB :::: 5555K 4

Example 15.13, Haydn, Piano Sonata in E-flat, H. 49, first movement, 188–218 (continued)
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Allegro
assai
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5 5 5
5 5 5 5 =

555 =
555� = 4 =

555 = 4 =
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5 5 5
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�� 5L 5L 5LE 5L 5L� 5L 4 = G5555 :::: 555

� = = 5 5E � 5 : 5� = = � = = 5H
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Example 15.14
Mozart, Piano Sonata in F, K. 332
third movement, 225–45

1

Analyzing Classical Form
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cresc.

55 5
p
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5� 5 : 5 5�
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55 5M

p

55 5ME 5 : 5 5� 5! 5! 5M 5M 5M� 5 5E 55M 5M� 5 55 5 =
5E 5 5 5 5 5 5 5 5

cresc.
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�
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Example 15.15
Beethoven, Violin Sonata in A minor, Op. 23
first movement, 220–52

1

Analyzing Classical Form
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G 5 5 5M 5M
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cresc.

5 5 5E 5 5 5E 5
p

5� 5! : 5 =
� 5 5 5 5M 5M� 5 5 5 5M 5M� 5 5 5 5M 5M� 5 5 5 5 5� 5 : 5 = 5 5 5 5 5� 5 : 5 =
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Example 15.15, Beethoven, Violin Sonata in A minor, Op. 23, first movement, 220–52 (continued)
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